
GENERAL KNOWLEDGE (lkekU; Kku)
1. Which film bagged maximum awards at

Oscars 2013?

2013 esa lcls T;knk vkWLdj iqjLdkj ikus okyh fiQYe&

(a) Brave (czso) (b) Argo (vxksZ)

(c) Life of Pi (ykbiQ vkSj ikbZ)

(d) Amour (vekSj)

2. Hugo Chavez died at a military hospital in

Caracas st the age of 58. who was he?

Þ;qxks pkost dk dkjkdkl esa ,d lSU; vLirky esa 58 o"kZ
dh vk;q esa fu/u gks x;kA og dkSu Fks\

(a) President of Venezuela (osustq,yk ds jk"Vªifr)
(b) Prime Minister of Venezuala

(osustq,yk ds iz/kuea=kh)

(c) Prime Minister of Vietnam

(fo;ruke ds iz/kuea=kh)

(d) President of Vietnam (fo;ruke ds jk"Vªifr)

3. The International Olympic committee has

announced to remove which sport from the

2020 Olympic Games?

varjkZ"Vªh; vksyafid lfefr 2020 vksyafid [ksyksa ls fdl
[ksy dks gVkus dh ?kks"k.kk dh gS\

(a) Cycling (lkbdfyax) (b) Wresting (dq'rh)

(c) Swimming (rSjkdh) (d) Boxing (eqDdsckth)

4. Who have won the Men's single title of the

Australian Open 2013?

vkLVªsfy;kbZ vksiu 2013 dk iq#"k ,dy f[krkc fdlus
thrk gS\

(a) Refel Nadal (jkiQsy uMky)

(b) Novak Djokovik (uksckd tksdksfod)

(c) Rojer Federer (jkstj iQsMjj)

(d) Martin Del Petro (ekfVZu Msy isVªks)

5. Who used the word 'SWARAJYA'?

fuEufyf[kr esa ls fdlus ̂ LojkT;* 'kCn dk iz;ksx fd;k Fkk\

(a) Raja Ram Mohan Roy (jktk jke eksgu jk;)

(b) Bal Gangadhar Tilak (cky xaxk/j fryd)

(c) Mahatma Gandhi (egkRek xk¡/h)

(d) Swami Vivekanad (Lokeh foosdkuUn)

6. Who among the following wrote 'Sankrit

Grammar'?

fuEukafdr esa ls fdlus ^laLd`r O;kdj.k* dh jpuk dh\

(a) Kalidas (dkyhnkl) (b) Charak (pjd)

(c) Panini (i.kh.kh) (d) Aryabhatt (vk;ZHkV~V)

7. Chinese Traveller Hiuen - Sang studied at

the univerity of

phuh ;kf=k àsu lkax fdl fo'ofo|ky; esa vè;;u dh Fkh\

(a) Taxila (y{kf'kyk)

(b) Vikramshila (foØef'kyk)

(c) Magadh (ex/)

(d) Nalanda (ukyank)

8. Match List-I with List-II and selet the

correct answer using the codes given below

the lists -

lwph & A dks lwfp & AA ds lkFk feyku djsa vkSj uhps fn,
x, lgh dksM dks pqusaA
List - I (Place) List - II (Associated with)

(LFkku) (lEc¼)
(A) Tughlaquabad 1. Allauddin Khilji

(rqxydkokn) (vykmíhu f[kyth)
(B) Red Fort, Delhi 2. Shahjahan

(yky fdyk] fnYyh) ('kkgtgk¡)
(C) Hauj Khas 3. Firoj Shah Tughlaq

(gkSat [kkl) (fiQjkst 'kkg rqxyd)
(D) The city of Siri 4. Ghiyasuddin Tughlaq

(f'kjh 'kgj) (X;klwíhu rqxyd)
Codes A B C D

(a) 1 2 3 4

(b) 4 2 3 1

(c) 4 3 2 1

(d) 3 1 4 2

9. Which British Governor General introduced

Postage Stamp in India?

fdl fczVh'k xouZj tujy us Mkd fVdV dh 'kq#vkr dh\
(a) Lord Dalhousie (ykWMZ MygkSth)
(b) Lord Aukland (ykWMZ vkWdyS.M)
(c) Lord Canning (ykWMZ dSfuax)
(d) Lord William Bentick (ykWM fofy;e osfUVd)
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10. Age of candidate of contest parliamentary

election should not be lesser than :

lalnh; pquko esa izfrfuf/;ksa dh mez fdrus o"kZ ls de ugha gksuh pkfg,\
(a) 18 Years (o"kZ) (b) 21 Years (o"kZ)
(c) 25 Years (o"kZ) (d) 26 Years (o"kZ)

11. Where is central Rice Research Institute located?

dsUæh; pkoy vuqla/ku laLFkku dgk¡ fLFkr gS\
(a) Bangaluru (caxyq#) (b) Kanpur (dkuiqj)
(c) Coimbatore (dks;EcVwj) (d) Cuttak (dVd)

12. FDI refers to :

,iQ- Mh- vkbZ- laf{kIr #i gS %
(a) Fixed Deposit Interest (fiQDl fMiksftV baVsjsLV)
(b) Fixed Deposit Investment (fiQDl fMiksftV baosLVesaV)
(c) Foreign Direct Investment (iQkWjsu Mk;jsDV baosLVesaV)
(d) Future Derivative Investment (Ý;wpj MsfjosfVo baosLVesaV)

13. The world largest river is -

fo'o dh lcls cM+h unh gS &
(a) Nile (uhy) (b) Cango (dkaxks)
(c) Gangas (xaxk) (d) Amazon (vestu)

14. The french lady Christine lagarde has been

appointed as the managing director of -

izQsap ysMh fØLVhu ykSxkMZ izca/ funs'kd fu;qDr gqbZ&
(a) IMF (vkbZ-,e-,iQ-) (b) World Bank (oYMZ cSad)
(c) OIC (vks-vkbZ-lh) (d) ASEAN (vkf'k;u)

15. The National School of Drama is situated

in which of the following city?

us'kuy Ldwy vkWiQ Mªkek fuEufyf[kr esa ls fdl 'kgj esa vofLFkr gS\
(a) Mumbai (eqacbZ) (b) New Delhi (ubZ fnYyh)
(c) Hyderabad (gSnjkckn) (d) Pune (iq.ks)

16. Which is the last films directed by Yash Chopra?

;'k pksiM+k }kjk funsZf'kr vafre fiQYe dkSu Fkh\
(a) Mere Brother Ki Dulhan (esjs cæj dh nqYgu)
(b) Rowdy Rathore (jkmMh jkBkSj)
(c) Jab Tak hai Jaan (tc rd gS tku)
(d) Son of Sardar (lu vkWiQ ljnkj)

17. Which of the following books is written by Kapil Dev?

fuEufyf[kr esa ls dkSu lh fdrkc dfiynso }kjk fyf[kr gS\
(a) One Day Wonders (ou Ms oaMlZ)
(b) Cricket My Style (fdØsV ekbZ LVkbZy)
(c) Twenty Years of the Top (VosUVh b;j vkWiQ VkWi)
(d) Cricket - Favourite Game (fØdsV&iQsojsV xse)

18. Human Rights Day is observed as -

ekuokf/dkj fnol euk;k tkrk gS&
(a) 18 December (18 fnlEcj)
(b) 14 November (14 uoEcj)
(c) 25 January (25 tuojh)
(d) 10 December (10 fnlEcj)

19. Which is the following is not social

networking site?

fuEufyf[kr esa ls dkSu 'kksly usVofd±x lkbV ugha gS\
(a) Facebook (iQslcqd) (b) G-mail (th&esy)
(c) Twitter (V~ohVj) (d) Google Plus (xqxy Iyl)

20. Who is known as Indian Bismark?

Hkkjr dk folekdZ fdls dgk tkrk gS\
(a) Nehru (usg#) (b) Rajaji (jktkth)
(c) Patel (iVsy) (d) Kamraj (dkejkt)

21. Which of the following state is the largest

in area?

{ks=kiQy vk/kfjr lcls cM+k jkT; fuEufyf[kr esa dkSu gS\
(a) Uttar Pradesh (mÙkj izns'k)
(b) Madhya Pradesh (eè; izns'k)
(c) Rajasthan (jktLFkku) (d) Maharashtra (egkjk"Vª)

22. With which game does Davis Cup

associated?

Msfol di ls lacaf/r [ksy gS\
(a) Hockey (gkWdh) (b) Table Tennis (Vscy Vsful)
(c) Lawn Tennis (ykWu Vsful) (d) Polo (iksyks)

23. Tsunamis are originated due to -

lqukeh mRiUu dk dkj.k gS &
(a) Sea Waves (leqæh ygj)
(b) Earthquake (Hkwdai) (c) Hurricane (pØokr)
(d) Rotation of the Earth (i`Foh ds ?kq.kZu)

24. Which is the national Emblem of India?

Hkkjr dk jk"Vªh; fpUg D;k gS\
(a) Dharma Chakra (/eZ pØ)
(b) Star and Cresecent (flrkjk vkSj v/Zpaæ)
(c) Lion and Sword ('ksj vkSj ryokj)
(d) The Great Wall (nh xzsV oky)

25. The original name of Mumtaj Mahal was-

eqerkt egy dk vkSfjftuy uke Fkk&
(a) Arjumanad Bano Beghum (vtqZean ckuks csxe)
(b) Ladli Beghum (ykMyh csxe)
(c) Mehrunnisa (esg#fUu'kk)
(d) Roshan Ara (jks'ku vkjk)
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GENERAL SCIENCE (lkekU; foKku)
1. Which of the following has highest

frequency?

fuEufyf[kr esa ls fdldk vf/dre vko`rh gS\

(a) Cosmic Rays (dkLehd fdj.k)

(b) X-Rays (,Dl&fdj.k)

(c) Radio Waves (jsfM;ks rjax)

(d) Micro Waves (lq{e rjax)

2. Which compound is soluble in water?

ikuh esa dkSu lk ;kSfxd ?kwyu'khy gS\
(a) CS

2
(b) C

2
H

5
OH

(c) CCl
4

(d) ChCl
3

3. Which of the following animals breathes

through the skin ?

fuEufyf[kr esa dkSu lk tkuoj Ropk }kjk lkal ysrk gS\

(a) Fish (eNyh) (b) Pigion (dcwrj)

(c) Frog (es<+d)

(d) Cockroach (fry&pV~Vk)

4. Which among the following animal can also

cause rabies?

fuEufyf[kr esa dkSu lk tkuoj jSfct dk dkj.k gS\

(a) Donkey (xngk) (b) Bat (pexknM+)

(c) Horse (?kksM+k) (d) Crocodile (exjePN)

5. Longest fibers are found in -

lcls yack js'kk ik;k tkrk gS&

(a) Jute (iVlu) (b) Cotton (#bZ)

(c) Sun Hemp (lu gsEi)

(d) Coir (ukfj;y)

6. Which is not a green house gas?

dkSu lk xzhu gkml xSl ugha gS\
(a) Co

2
(b) CH

4

(c) N
2
O (d) Chlorofluorocarbons

7. Most poisonous pollutant in water is -

ikuh esa lcls tgjhyk iznw"kd gS&

(a) Zinc (ftad) (b) Phosphate (iQkWLiQsV)

(c) Arsenic (vklsZfud) (d) Detergent (fMVts±V)

8. Which one of the following was used as a

Chemical weapon in the first world war?

fuEufyf[kr esa ls fdl jklk;fud 'kL=k dk mi;ksx izFke
fo'o ;q¼ esa gqvk Fkk\

(a) Carbon Monoxide (dkcZu eksuskDlkbM)

(b) Hydrogen Cyanide (gkbMªkstu lkbukbM)

(c) Mustard Gas (eLVMZ xSl)

(d) Water Gas (okVj xSl)

9. Fat is -

olk gS&

(a) A Lipid (,d fyihM)

(b) A Protein (,d izksVhu)

(c) A Carbohydrate (,d dkcksZgkbMªsV)

(d) An Amino Acid (,d ,feuks vEy)

10. The element having lowest melting point

in periodic table is -

vkorhZ lkj.kh esa fdl rRo dk lcls de æo.kkad gksrk gS\
(a) Hg (b) He

(c) W (d) Cs

11. A carbon microphone is best used in a -

dkcZu ekbØksiQksu dk lcls vPNk mi;ksx fd;k tkrk gS&

(a) Dynamo (Mk;usek)

(b) Telephone (VsyhiQksu)

(c) Transformer (VªkaliQkWjej)

(d) None of these (dksbZ ugha)

12. Who discovered wireless communication?

csrkj dk rkj dk [kkst dkSu fd;k\

(a) Hertz (gVtZ) (b) Maxwell (eSDlosy)

(c) Marconi (ekdksZuh) (d) Newton (U;wVu)

13. Which of the following is a vector quantity?

fuEufyf[kr esa dkSu lk lfn'k jk'kh gS&

(a) Momentum (laosx)

(b) Pressure (nkc)

(c) Energy (mQtkZ)

(d) Work (dk;Z)
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14. Newton's first law is also called as -

U;wVu dk izFke fu;e dks dgk tkrk gS&

(a) Law of Moments (osx dk fu;e)

(b) Law of Inertia (vk?kq.kZ dk fu;e)

(c) Law of Energy (mQtkZ dk fu;e)

(d) Law of Momentum (laosx dk fu;e)

15. A fuse wire is made of -

Ý;wt rkj fdldk cuk gksrk gS\
(a) An alloy of Tin and Copper

(Vhu vkSj rkacs ds feJ.k ls)
(b) An alloy of Tin and Lead

(fVu vkSj dkap ds feJ.k ls)
(c) An alloy of Tin and Aluminium

(fVu vkSj vY;qehfu;e ds feJ.k ls)
(d) An alloy of Nickel and Chromium

(fudsy vkSj Øksfe;e ds feJ.k ls)

16. The fourth state of matter is known as -

inkFkZ ds prqFkZ vkdkj dks tkuk tkrk gS&

(a) Gas (xSl) (b) Electrons (bysDVªkWu)

(c) Plasma (Iyktek) (d) Vapour (ok"i)

17. Which one of the following is not a

radioactive element?

fuEufyf[kr esa dkSu lk jsfM;k/ehZ rRo ugha gS\

(a) Uranium (;wjsfu;e)

(b) Thorium (Fkksjh;e)

(c) Radium (jsfM;e)

(d) Cadmium (dSMeh;e)

18. PH value of human blood is

ekuo [kwu dk PH eku gksrk gS
(a) 8.25-8.35 (b) 7.35-7.45

(c) 4.0-4.5 (d) 6.45-6.55

19. Uric acid is present in

;wfjd vEy mifLFkr jgrk gS&

(a) Soda Water (lksMk okVj)

(b) Pancid Butter ([kV~Vk e[[ku)

(c) Sour Milk ([kV~Vk nw/)

(d) Urine of Mammals (Lru/kjh dk ew=k)

20. Water gas is a mixture of

okVj xSl feJ.k gS&

(a) CO + N
2

(b) CO + H
2

(c) CH
4
 + CO (d) None of these (dksbZ ugha)

21. Red lead is -

yky dk¡p gS&

(a) PbO (b) Pb
2
O

(c) Pb
2
O

3
(d) Pb

3
O

4

22. Oxygen was discovered by-

vkWDlhtu fdlds }kjk [kkst fd;k x;k\

(a) Priestley (fizLVys)

(b) Boyle (ckW;y)

(c) Scheele (flys)

(d) Cavendish (DosafM'k)

23. Which is the correct formula of bleaching

powder?

Cyhfpax ikmMj dk dkSu lk lw=k gksrk gS\

(a) Ca(OCl) Cl (b) CaO (OCl)

(c) Ca(OCl)
2

(d) Ca(OCl)
2
Cl

24. Mammal who have laregest eye -

Lru/kjh tks lcls cM+k vk¡[k j[krk gS&

(a) Deer (fgj.k)

(b) Horse (?kksM+k)

(c) Camel (mQ¡V)

(d) Whale (àsy)

25. Which contains the highest energy?

fuEufyf[kr esa ls fdlesa mPpre mQtkZ gksrh gS\

(a) Blue Light (fuyk izdk'k)

(b) Green Light (gjk izdk'k)

(c) Red Light (yky izdk'k)

(d) Yellow Light (ihyk izdk'k)
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MATHEMATICS (xf.kr)
1. If a and b are odd numbers, then which of

the following is even?

;fn a vkSj b fo"ke la[;k,¡ gS] rks fuEufyf[kr esa ls dkSu
le gS\
(a) a + b (b) a + b+1

(c) ab (d) ab + 2

2. The sum of two nos is 45, Their differences

is 1/9 of their sum, Their L.C.M. is

nks la[;kvksa dk ;ksx 45 gSA muds chp dk varj muds ;ksx
dk 1@9 gSA mudk y- l- gS&
(a) 100 (b)150 (c) 200 (d)250

3. 4 + 4.44 + 44.4 + 4.04 + 444 = ?

(a) 472.88 (b) 495.22

(c) 500.88 (d) 577.22

4.
?25.5

2

3
of

2

5

2

7

2

3

2

5

2

7

=÷

÷

×÷

  
?25.5

2

3

2

5

2

7

2

3

2

5

2

7

=÷

÷

×÷

(a)
21

4
(b)

3

1
2 (c)

7

3
(d)5.25

5. 02.0
200

?
=

(a) 0.4 (b)4 (c) 16 (d)1.6

6. The average of 6 numbers is 30. If the

average of first four is 25 and that of last

three is 35 the fourth number is :

6 la[;kvksa dk vkSlr 30 gSA ;fn izFke ik¡p la[;kvksa dk
vkSlr 25 gS vkSj vafre 3 la[;kvksa dk 35 gS rks pkSFkh
la[;k gS &
(a) 25 (b)30 (c) 35 (d)40

7. If the product of two number is 5 and one

of the number is 3/2 then the sum of the

two number is

;fn nks la[;kvksa dk xq.kuiQy 5 gSA ;fn ,d la[;k 3@2 gS]
rks nksuks la[;k dk ;ksx gksxk&

(a)
3

1
4 (b)

3

2
4 (c)

6

5
4 (d)

2

1
6

8. The product of Ramu's age 5 years ago with his

age 7 years later is 28. Ramu's present age is -

jkeq dk orZeku ls ik¡p o"kZ igys dh vk;q vkSj orZeku ls 7 o"kZ ckn
dh vk;q dk xq.kuiQy 28 gS rks jkeq dk orZeku mez D;k gksxh\
(a) 4 Years (4 o"kZ) (b) 6 Years (6 o"kZ)
(c) 7 Years (7 o"kZ) (d) 8 Years (8 o"kZ)

9. If 5

1

5

1

x
28x2 =

 then x = ?

;fn 5

1

5

1

x
28x2 =

 rks x = ?

(a)
5

1
(b)

5

1
− (c)

5

2
(d)

5

2
−

10. How is 
2

1 % expressed as a decimal fraction?

2
1 » dks n'keyo esa dSls fu#fir fd;k tk,xk\
(a) 0.0005 (b)0.005 (c) 0.05 (d)0.5

11. A dealer offers a discount of 10% on the

marked price of an article and still makes

a profit of 20%. If its marked price is Rs.

800, then the cost price is-

,d foØsrk ,d oLrq dks mlds vafdr ewY; ij 10» dh
NwV nsrk gS fiQj Hkh og 20» dh ykHk ikrk gSA ;fn bldk
vafdr ewY; 800 #i, gS rks Ø; ewY; fudkysaA
(a) Rs. 600 (600 #-) (b) Rs. 700 (700 #-)
(c) Rs. 800 (800 #-) (d) Rs. 900 (900 #-)

12. If 32 students in a class are females and the

ratio of female to male students is 16 : 9, then

what percentage of the class is female?

;fn ,d oxZ esa 32 yM+fd;k¡ gS vkSj yM+dh vkSj yM+dk ds chp dk
vuqikr 16%9 gS rks ml oxZ esa fdrus izfr'kr yM+fd;k¡ gSa\
(a) 32% (b)36% (c) 72% (d)64%

13. A can do a piece of work in 24 days while B

alone can do it in 16 days. With the help of

C, they can finish the work in 8 days. C

alone can do the work in

A fdlh dke dks 24 fnuksa esa iqjk djrk gS] B vdsys ml
dke dks 16 fnuksa esa iqjk djrk gSA C dh lgk;rk ls rhuksa
feydj ml dke dks 8 fnuksa esa iqjk djrs gSaA C vdsys ml
dke dks fdrus fnuksa esa iqjk djsxk\
(a) 32 days (32 fnu) (b) 36 days (36 fnu)
(c) 40 days (40 fnu) (d) 48 days (48 fnu)

dk
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14. A man performs 2/15 of the total journey

by rail, 9/20 by bus and the remaining 10

km on cycle. His total journey is -

,d vkneh viuh dqyk ;k=k dk 2@15 Hkkx jsy ds }kjk]
9@10 Hkkx cl ds }kjk vkSj cpk gqvk 10 fd-eh- lkbfdy
ls iqjk djrk gS rks mldh dqy ;k=kk gksxh&
(a) 31.2 Km (31-2 fd-eh) (b) 38.4 Km (38-4 fd-eh)
(c) 32.8 Km (32-8 fd-eh) (d) 24 Km (24 fd-eh)

15. A train crosses a pole in 15 seconds, while

its crosses 100 meter long platform in 25

seconds. The length of the train is :

,d jsyxkM+h ,d [kaHks dks 15 lsds.M esa ikj dj tkrh gS]
tcfd 100 ehVj yEck IysViQkeZ 25 lsds.M esa og ikj
djrh gSA rks jsyxkM+h dh yEckbZ crkosa
(a) 125 M (125 ehVj) (b) 135 M (135 ehVj)
(c) 150 M (150 ehVj) (d) 175 M (175 ehVj)

16. In what ratio must a grocer mix two

varieties of tea costing Rs. 15 and Rs. 20

per kg respectively so as to get a mixture

worth Rs. 16.50 per kg?

,d ialkjh nks izdkj ds pk; dks tks Øe'k% 15#-@fd-xzk-
vkSj 20#-@fd-xzk- dk gS] fdl vuwikr esa feykoV djs fd
mldk ewY; 16-50 #-@fd-xzk- gks tk,\
(a) 3 : 7 (b) 5 : 7

(c) 7 : 3 (d) 7 : 5

17. The difference betwen simple and

compound interest on a sum of money for

2 years at 10% per annum is Rs. 65. The

sum is -

fdlh /u dk 2 o"kks± ds fy, 10» okf"kZd C;kt dh nj ls
lk/kj.k vkSj pØo`f¼ C;kt ds chp dk varj 65 gS rks
/u gksxkA
(a) Rs. 6500 (6500 #-) (b) Rs. 6565 (6565 #-)
(c) Rs. 65065 (65065 #-) (d) Rs. 65650 (65650 #-)

18. How many bricks will be needed to

construct a wall 4 m long, 3 m high and 13

cm broad, if each brick measure 20 cm x

12 cm x 6.5 cm?

,d 4 ehVj yEck] 3 eh- mQ¡pk] 13 ls-eh- pkSM+k nhokj dks
cukus esa fdrus b±V dh t#jr gksx\ ;fn izR;sd b±V dh eki
20 ls-eh- x 12 ls-eh- x 6.5 ls-eh- gSaA
(a) 500 (b) 1000

(c) 1500 (d) 2000

19. If each side of square is increased by 4 cm,

then its area is increased by 60 cm2. The

side of the square is -

;fn fdlh oxZ dh Hkqtk dks 4 ls-eh ls c<+k fn;k tk, rks mldk
{ks=kiQy 60 ls-eh-2 c<+ tkrk gS rks oxZ dh Hkqtk fudkysaA
(a) 12cm (12 ls-eh) (b) 13cm (13 ls-eh)
(c) 14cm (14 ls-eh) (d) None of these (dksbZ ugha)

20. A man purchased a watch for Rs. 1950 in

cash and sold it for Rs. 2160 at a credit of

1 year. If the rate of interest is 8% per

annum, then the man has

,d vkneh ,d ?kM+h 1950 #i, esa udn [kjhnrk gS vkSj
mls 1 o"kZ dh m/kjh ij 2160 #i, esa csprk gSA ;fn
okf"kZd C;kt nj 8» gks rks vkneh ikrk gS&
(a) a gain of Rs.210  (210 #- ykHk)
(b) a gain of Rs.50  (50 #- ykHk)
(c) a gain of Rs.60  (60 #- ykHk)
(d) a loss Rs.30  (30#- gkfu)

21. In the given figure, AOB is a

straight line, ∠∠∠∠∠AOC = 68°

and ∠∠∠∠∠BOC = x°, then the

value of x is :

fn, x, fp=k esa AOB ,d ljy
js[kk gS] ∠∠∠∠∠AOC = 68° vkSj
∠∠∠∠∠BOC = x° rks x  dk eku fudkysaA
(a) 32 (b)22 (c) 112 (d)132

22. The calendar for the year 2007 will be the

same for the year -

2007 ds dSys.Mj ds cjkcj fdl o"kZ dk dSys.Mj gksxk\
(a) 2014 (b)2016 (c) 2017 (d)2018

23. At 3.40 the hour hands and the minute

hand of a clock forms on angle of

3-40 cts ?kaVk dk lqbZ vkSj feuV ds lwbZ ds chp dk dks.k gksxk%
(a) 120° (b)125° (c) 130° (d)135°

24. A can run 20 m. while B runs 25 m. In one

Km race, B beat A by -

A 20 ehVj nkSM+ ldrk gS tcfd B 25 ehVj nkSM+ ldrk gSA
,d fd-eh- ds jsl esa B ds }kjk A dks fdrus ls gkjsxk\
(a) 125 m (125 eh-) (b) 200 m (200 eh-)
(c) 225 m (250 eh-) (d) 250 m (250 eh-)

25. If 4x + 6y = 32 and 4x - 2y = 4 then 8y = ?

;fn 4x + 6y = 32 vkSj 4x - 2y = 4 rks 8y = ?

(a) 24 (b) 30

(c) 36 (d) None of these (dksbZ ugha)

x°
68°

C

A O B
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ENGLISH (vaxzsth)
1. Write an essay on any one of the following in

200 words (4 Marks)

(a) Social peace and Harmony

(b) Drug addiction in youth

2. Write a letter to your younger brother describing

him about the importance of computer education

for his carrier (in about 150 words) (4 Marks)

3. Change any four Active Voice into Passive Voice

(2 Marks)

(a) Nobody could kill the criminal

(b) What were you doing?

(c) Some one displeased her

(d) They elected him secretary

(e) He arrived at the conclusion

(f) Don't insult the poor

4. Change given direct narration into indirect

narration (2 Marks)

(a) He said, "The sun rises in the east"

(b) Bhavna said to me, "why did you give up

your study?"

(c) Vivek said, "Let we go out"

(d) He said, "Nonsense"

5. Find the error part of the following sentence

(2 Marks)

(a) (i) They walked / (ii) besides / (c) each other

/ (iv) in silence / (v) No error

(b) (i) My cousin has been / (ii) married with /

(c) the richest man / (iv) of the village / (v)

No error

(c) (i) Yesterday, Binay / (ii) came across with /

(c) one of his / (iv) old friends / (v) No error

(d) (i) I will / (ii) send you / (c) this book / (iv)

latest by 10th February / (v) No error

6. From each pair of sentences given below, choose

the sentence with the correct usage

(2 Marks)

(a) (i) I was so happy when I heard that my

cousin was coming from Delhi

(ii) I was so happy when I heard that my

cousin brother was coming from Delhi

(b) (i) The first world war was fought during

1914 - 1918.

(ii) The first world war was fought between

1914 and 1918.

(c) (i) I was filling the bucket with water so I

could not hear the bell ringing

(ii) I was filling water in the bucket so I

could not hear the bell ringing.

(d) (i) He was kind enough to invite me

(ii) He was so kind to invite me

7. Write one word from following group of words:

(2 Marks)

(a) A traditional story related to deities

(b) Government by officials in a state

(c) Study of Law

(d) Specialist in mental or emotional

disturbance

8. Write down any four of Antonyms of the

following (2 Marks)

(a) Barren (b) Bankrupt

(c) Grief (d) Scatter

9. Choose the correct meaning of the given idioms

and phrases from the alternatives given

(2 Marks)

(a) Sec eye to eye

(i) to look into some one eyes

(ii) To agree with some one

(iii) To stare

(iv) To threaten

(b) Be sitting on a gold mine

(i) to own something very valuable

(ii) to won a gold mine

(iii) to sit on a gold mine

(iv) to wealthy person

(c) Go the extra mile

(i) to run faster than other

(ii) to set a record

(iii) make more effort than expected

(iv) make a good effort to run extra miles

(d) To draw the line :

(i) to decide one's occupation

(ii) to prepare for a battle

(iii) to set limits

(iv) to withdraw from activity

10. Translate into English (3 Marks)

(a) U;k;/h'k eqdnes dh lquokbZ dj jgs gSaA
(b) rqeus en Vsjslk dk uke lquk gksxk
(c) mls ,slk izrhr gksrk gS fd eSa bls dj yq¡xkA
(d) ;fn og dfBu ifjJe ugha djsxh] og liQy ugha

gks ik;sxhA
(e) og vius izseh dk bartkj ikdZ esa fd;k djrh FkhA
(f) fou; blls igys fnYyh ugha x;k FkkA
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HINDI (fgUnh)
1. fuEufyf[kr esa ls fdlh ,d ij 200 'kCnksa esa fuca/ fy[ksa

(4 vad)

(a) jke HkDr guqeku

(b) ;qokvksa esa u'ks dh yr

2. vius fiz; fe=k dks i=k fy[kdj mls vius thou dh Hkkoh
;kstukvksa dh tkudkjh nhft,A (150 'kCnksa esa)

(4 vad)

3. fuEu 'kCn lewgksa ds fy, ,d 'kCn nsaA (2 vad)

d- og L=kh ftldk ifr nwljk fookg dj ysA

[k- fdlh dh d`ik ls iqjh rjg larq"V

x- vf/d fnuksa rd thus okyk

?k- tks eqdnek nk;j djrk gSA

4. fuEufyf[kr eqgkojksa esa ls fdlh pkj dk vFkZ Li"V
djrs gq, ,d&,d okD; cuk;saA (2 vad)

d- varfM+;ksa esa cy iM+uk

[k- liQsn >wB

x- e[keyh twrs ekjuk

?k- ukd ij lqikjh rksM+uk

Ö- rsyh dk cSy gksuk

p- mUuhl&chl gksuk

5. lfoxzg lekl crkosaA (2 vad)

d- enka/ [k- ykSgiq#"k

x- uhykEcj ?k- xzkeks}kj

6. fuEufyf[kr esa ls fdlh pkj dk fyax fu.kZ; dj okD;
cuk,¡A (2 vad)
d- uj&ukjh [k- iqLrd
x- lksuk ?k- lkeku
p- eky N- jksVh
t- bZeku >- fHk{kk

7. fuEufyf[kr lekukFkZd 'kCnksa dk vFkZ Li"V djsaA
(2 vad)

d- vuqefr vkKk
[k- migkj HksaV
x- ;q¼ yM+kbZ
?k- ueLdkj iz.kke

8. fuEufyf[kr esa ls fdlh pkj dk rhu&rhu i;kZ;okph 'kCn
fy[ksa (2 vad)
d- jko.k [k- 'kgn
x- lgsyh ?k- 'kjkc
p- iRFkj N- nhu
t- iQwy >- jktk

9. fuEufyf[kr esa ls fdlh pkj dk laf/&foPNsn djsa
(2 vad)

d- ?kfuRo [k- rnqijkUr
x- izksRlkgu ?k- uhjl
p- C;kfHkpkj N- "kMkuu
t- vR;kpkj >- uiq"kad

10. uhps fy[ks jpuka'kksa esa fdlh ,d dk HkkokFkZ 70 'kCnksa esa
fy[ksa (3 vad)
d- djr&djr vH;kl ds tM+efr gksr lqtkuA

jljh vkor tkr rs fly ij ijr fu'kkuAA

[k- tkyh esjs yky dh] ftr ns[kw¡ frr ykyA
ykyh ns[ku eSa xbZ] eSa Hkh gks xbZ ykyAA


